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1 lqdf]xg dflj ;qmflGtahf/ 031000061 C lrGtfdl)f pk|]tL df=lz= :yfoL t[tLo 061.01.27 30500 5 5085 35585 3559 400 2000 500 42044 168174 168174

2 lqdf]xg dflj ;qmflGtahf/ 031000061 C gGbnfn bgf{n df=lz= :yfoL låtLo 061.01.27 074.7.7 34220 2 2282 36502 3650 400 2000 42552 170209 170209

3 lqdf]xg dflj ;qmflGtahf/ 031000061 C clUgk|;fb ;]gfO{ df=lz= :yfoL t[tLo 061.01.27 30500 5 5085 35585 3559 400 2000 41544 166174 166174

4 lqdf]xg dflj ;qmflGtahf/ 031000061 C /fhg ltlD;gf df=lz= :yfoL t[tLo 071.05.27 30500 3 3051 33551 3355 400 2000 39306 157224 157224

5 lqdf]xg dflj ;qmflGtahf/ 031000061 C l;tf/fd lg/f}nf df=lz= c:yfoL t[tLo 054.05.15 30500 0 30500 2000 32500 130000 130000

6 lqdf]xg dflj ;qmflGtahf/ 031000061 C lbk]Gb|nfn s)f{ df=lz= ; \̂^f t[tLo 2066.10.11 30500 0 30500 2000 32500 97500 97500 gGb g]kfnL ; \̂^f

7 lqdf]xg dflj ;qmflGtahf/ 031000061 C ljgf]b lg/f}nf p=df=lz= b/aGbL 2068.5.8 34220 0 34220 2000 36220 144880 144880

8 lqdf]xg dflj ;qmflGtahf/ 031000061 C goGb s'df/ kmf]Daf] p=df=lz= b/aGbL 2074.10.11 34220 0 34220 2000 36220 144880 144880

1179041

0 si0f dflj 8fF8ufpF 031001321 C uLtfb]jL ;fksf]^f df=lz= :yfoL t[tLo 2072.9.6 30500 2 2034 32534 3253 400 2000 38187 152750 12729 8.10 lhNnfGt/ ;?jf

1 si0f dflj 8fF8ufpF 031001321 C ;f]dgfy uf}td df=lz= c:yfoL t[tLo 049.09.10 30500 0 30500 2000 500 33000 132000 132000

2 si0f dflj 8fF8ufpF 031001321 C lktfDa/ e§/fO{ df=lz= c:yfoL t[tLo 053.05.20 30500 0 30500 2000 32500 130000 130000

3 si0f dflj 8fF8ufpF 031001321 C dx]Gb|k|;fb rf}w/L df=lz= /fxt 2066.04.18 30500 0 30500 2000 32500 130000 130000

4 si0f dflj 8fF8ufpF 031001321 C ltn axfb'/ vjf; p=df=lz= b/aGbL 068.4.16 34220 0 34220 2000 36220 144880 144880

5 si0f dflj 8fF8ufpF 031001321 C ;'/]z nD;fn p=df=lz= b/aGbL 2074.10.7 34220 0 34220 2000 36220 144880 144880

6 si0f dflj 8fF8ufpF 031001321 C lbks b'nfn df=lz= c:yfoL t[tLo 2074.10.7 30500 0 30500 2000 32500 130000 130000

7 si0f dflj 8fF8ufpF 031001321 C k|bLk *fuL df=lz= c:yfoL t[tLo 2075.9.8 30500 0 30500 2000 32500 130000 88833 9.8 df gof lgo'StL

913322

1 /fd ;+:s[t dflj v]nk'/ 031000391 C rngrGb| k|sfz sGbª\jf df=lz= :yfoL t[tLo 2072.9.6 30500 2 2034 32534 3253 400 2000 38187 152750 152750 सरूवा भएको
2 /fd ;+:s[t dflj v]nk'/ 031000391 C ljhos'df/ ofbj df=lz= c:yfoL t[tLo 054.05.05 30500 0 30500 2000 500 33000 132000 132000

3 /fd ;+:s[t dflj v]nk'/ 031000391 C #gZofd kf}*]n df=lz= c:yfoL t[tLo 057.01.06 30500 0 30500 2000 32500 130000 130000

4 /fd ;+:s[t dflj v]nk'/ 031000391 C ldq k|;fb b''nfn df=lz= c:yfoL t[tLo 2075.5.11 30500 0 30500 2000 32500 130000 130000

5 /fd ;+:s[t dflj v]nk'/ 031000391 C o'j/fh cfrfo{ p=df=lz= cg'bfg 2072.6.7 34220 0 34220 2000 36220 144880 144880

6 /fd ;+:s[t dflj v]nk'/ 031000391 C b]jsf l#ld/] p=df=lz= cg'bfg 071.4.1 34220 0 34220 2000 36220 144880 144880

834510

1 dx]Gb| dflj vfDnfn'ª 031001361 C e'jgl;+x rf]ª\jfé df=lz= :yfoL t[tLo 061.01.27 30500 5 5085 35585 3559 400 2000 500 42044 168174 168174

2 dx]Gb| dflj vfDnfn'ª 031001361 C *f]ngfy lg/f}nf df=lz= :yfoL t[tLo 060.11.10 30500 5 5085 35585 3559 400 2000 41544 166174 166174

3 dx]Gb| dflj vfDnfn'ª 031001361 C >Lgf/fo)f ofbj df=lz= c:yfoL t[tLo 2074.10.11 30500 0 30500 2000 32500 130000 130000

4 dx]Gb| dflj vfDnfn'ª 031001361 C vu]Gb| rf]esSafe df=lz= c:yfoL t[tLo 2074.12.1 30500 0 30500 2000 32500 130000 130000

5 dx]Gb| dflj vfDnfn'ª 031001361 C lji)f' k|;fb vgfn p=df=lz= cg'bfg 2071.9.1 34220 0 34220 2000 36220 144880 144880

6 dx]Gb| dflj vfDnfn'ª 031001361 C pd]z lu/L p=df=lz= cg'bfg 2071.9.1 34220 0 34220 2000 36220 144880 144880

884108

1 ;/:jtL dflj Xjfs' 031001151 C c/ljGb s'df/ ;fx df=lz= c:yfoL t[tLo 2073.2.2 30500 0 30500 2000 32500 130000 130000

2 ;/:jtL dflj Xjfs' 031001151 C zg{ sGbª\jf df=lz= :yfoL låtLo 048.04.01 065.10.10 34220 5 5705 39925 3993 400 2000 46318 138953 138953 11.1 df /flhgfdf

3 ;/:jtL dflj Xjfs' 031001151 C pd]z s'df/ ofbj df=lz= c:yfoL t[tLo 2074.11.8 30500 0 30500 2000 32500 130000 0 7.1 df /flhgfdf

4 ;/:jtL dflj Xjfs' 031001151 C csnaxfb'/ lnDa" df=lz= /fxt 2066.02.25 30500 0 30500 2000 500 33000 132000 132000

5 ;/:jtL dflj Xjfs' 031001151 C r]tgfy lg/f}nf p=df=lz= cg'bfg 2072.1.27 34220 0 34220 2000 36220 144880 144880

6 ;/:jtL dflj Xjfs' 031001151 C bLk]Gb| aflgof p=df=lz= cg'bfg 2074.10.12 34220 0 34220 2000 36220 144880 144880

0 ;/:jtL dflj Xjfs' 031001151 C k|]d /fh n'O{^]n df=lz= ;^\^f 2068.10.15 30500 0 30500 2000 32500 97500 97500 ;g{ sGb+ªaf ; \̂^f

cf7/fO{ ufpFkflnsf t]x|y'd

df=lj= txsf lzIfsx?sf] cf=j=075.076sf] bf];|f] rf}dfl;s tna lgsfzf ljj/)f  -2075.11.05 df cWofjlws_
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cf7/fO{ ufpFkflnsf t]x|y'd

df=lj= txsf lzIfsx?sf] cf=j=075.076sf] bf];|f] rf}dfl;s tna lgsfzf ljj/)f  -2075.11.05 df cWofjlws_

7 ;/:jtL dflj Xjfs' 031001151 C g/]Gb| >]i& df=lz= c:yfoL t[tLo 2074.9.24 30500 0 30500 2000 32500 130000 130000

918213

1 k|0ffdL dflj Ojf 031001431 C cd[taxfb"/ a"(fyf]sL df=lz= :yfoL t[tLo 071.05.27 30500 3 3051 33551 3355 400 2000 500 39806 159224 159224

2 k|0ffdL dflj Ojf 031001431 C gf/fo)fk|;fb clwsf/L df=lz= :yfoL t[tLo 071.05.27 30500 3 3051 33551 3355 400 2000 39306 157224 83853 2075.10.4 df ;?jf

3 k|0ffdL dflj Ojf 031001431 C rGb|s'sdf/ d)*n df=lz= c:yfoL t[tLo 056.11.27 30500 0 30500 2000 32500 130000 130000

4 k|0ffdL dflj Ojf 031001431 C ?b| gf/fo)f ofbj df=lz= c:yfoL t[tLo 2075.2.27 30500 0 30500 2000 32500 130000 130000

5 k|0ffdL dflj Ojf 031001431 C lbns'df/L a'(fyf]sL df=lz= /fxt 2065.05.15 30500 0 30500 2000 32500 130000 130000

6 k|0ffdL dflj Ojf 031001431 C eLd k|;fb lnDa' p=df=lz= cg'bfg 2071.9.1 34220 0 34220 2000 36220 144880 144880

7 k|0ffdL dflj Ojf 031001431 C afns'df/ dxt p=df=lz= cg'bfg 2071.11.8 34220 0 34220 2000 36220 144880 144880

922837

1 kf]v/L dflj 5ft]9'ª\uf 031000971 C lzj]Gb|k|;fb ofbj df=lz= c:yfoL t[tLo 051.12.07 30500 0 30500 2000 500 33000 132000 132000

2 kf]v/L dflj 5ft]9'ª\uf 031000971 C s[i)fsnf e^\^/fO{ df=lz= :yfoL t[tLo 2072.9.6 30500 2 2034 32534 3253 400 2000 38187 152750 152750

3 kf]v/L dflj 5ft]9'ª\uf 031000971 C dx]z sGbª\jf df=lz= :yfoL t[tLo 071.05.27 30500 3 3051 33551 3355 400 2000 39306 157224 157224

4 kf]v/L dflj 5ft]9'ª\uf 031000971 C ;'/]Gb| yklnof df=lz= c:yfoL t[tLo 062.10.11 30500 0 30500 2000 32500 130000 130000

5 kf]v/L dflj 5ft]9'ª\uf 031000971 C lxdk|;fb km'on df=lz= c:yfoL t[tLo 065.10.08 30500 0 30500 2000 32500 130000 130000

6 kf]v/L dflj 5ft]9'ª\uf 031000971 C ljdnf yklnof p=df=lz= cg'bfg 2068.8.29 34220 0 34220 2000 36220 144880 144880

7 kf]v/L dflj 5ft]9'ª\uf 031000971 C b]j]Gb| s'df/ kf}*]n p=df=lz= cg'bfg 2065.9.29 34220 0 34220 2000 36220 144880 144880

991734

1 ;f/bf dflj r'xfg8fF8f 031001481 C eLdaxfb'/ cfrfo{ df=lz= :yfoL låtLo 061.01.27 2069.11.25 34220 4 4564 38784 3878 400 2000 500 45562 182250 182250

0 ;f/bf dflj r'xfg8fF8f 031001481 C gljg rGb| cfrfo{ df=lz= :yfoL t[tLo 2071.5.27 30500 3 3051 33551 3355 400 2000 39306 157224 0 ;?jf eO uPsf]

2 ;f/bf dflj r'xfg8fF8f 031001481 C l*NnL k|;fb cfrfo{ df=lz= c:yfoL t[tLo 2075.10.24 30500 30500 2000 32500 130000 40083 10.24 df gof lgo'lSt

3 ;f/bf dflj r'xfg8fF8f 031001481 C sdnfb]jL e§/fO{ df=lz= :yfoL t[tLo 071.05.27 30500 3 3051 33551 3355 400 2000 39306 157224 157224

4 ;f/bf dflj r'xfg8fF8f 031001481 C /ljs'df/ yklnof df=lz= c:yfoL t[tLo 064.04.20 30500 0 30500 2000 32500 130000 130000

5 ;f/bf dflj r'xfg8fF8f 031001481 C k|sfz k/fh'nL df=lz= c:yfoL t[tLo 062.11.21 30500 0 30500 2000 32500 130000 130000

6 ;f/bf dflj r'xfg8fF8f 031001481 C l/St df=lz= c:yfoL t[tLo 30500 0 30500 2000 32500 130000 0

7 ;f/bf dflj r'xfg8fF8f 031001481 C !fg axfb'/ /f]sf p=df=lz= b/aGbL 2067.9.18 34220 0 34220 2000 36220 144880 144880

8 ;f/bf dflj r'xfg8fF8f 031001481 C lbng /]UdL p=df=lz= b/aGbL 2072.2.1 34220 0 34220 2000 36220 144880 144880

929317

1 eujtL dflj yf]Sn'ª 031001081 C k|]dk|sfz nfld%fg] df=lz= :yfoL låtLo 061.01.27 2072.6.1 34220 2 2282 36502 3650 400 2000 500 43052 172209 172209

2 eujtL dflj yf]Sn'ª 031001081 C ;Gtk|;fb yklnof df=lz= :yfoL t[tLo 2061.1.27 30500 4 4068 34568 3457 400 2000 0 40425 161699 99714 10.15 df cjsf;

3 eujtL dflj yf]Sn'ª 031001081 C b]jLk|;fb ;ª\uf}nf df=lz= :yfoL låtLo 061.01.27 2069.11.25 34220 4 4564 38784 3878 400 2000 45062 180250 180250

eujtL dflj yf]Sn'ª 031001081 C rngrGb| k|sfz sGbª\jf df=lz= :yfoL t[tLo 2072.9.6 30500 2 2034 32534 3253 400 2000 38187 152750 0 ;?jf eO cfPsf] 

4 eujtL dflj yf]Sn'ª 031001081 C clegf/fo)f k/fh'nL df=lz= c:yfoL t[tLo 2063.08.13 30500 0 30500 2000 32500 130000 130000

0 eujtL dflj yf]Sn'ª 031001081 C Zofd s'df/ dxtf] df=lz= ; \̂^f t[tLo 2071.9.25 30500 0 30500 2000 32500 97500 97500 b]jL ;+u|f}nfsf] lnog

5 eujtL dflj yf]Sn'ª 031001081 C /ljGb| Gof}kfg] p=df=lz= cg'bfg 2069.12.2 34220 0 34220 2000 36220 144880 144880

6 eujtL dflj yf]Sn'ª 031001081 C gf/fo)f k|;fb ltlD;gf p=df=lz= cg'bfg 2072.3.1 34220 0 34220 2000 36220 144880 144880

969432

8542514
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